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19007
18007
17007
16007
15007

14007

13007

1200+




dna - Well D12

Entry: Trak2
2:C:34.1%/T: 65.9%
(Passed)

D Qs L 1 e

AQQ L i

OO 10— [

QOO 10 )t ——— e

ABOO R~ e

T QO 1t 8

ABOO 1

15007

14007

13007

1200+




10 uL universal (141+157) - Well B2
Entry: Bmpl

1:C:723%/T: 27.7%

(Passed)

C:72.3%
T:27.7%

OO 1| |t

DGO ||t ——————— [

Q0O 1] —— [ s

AT y—— [ [

2O ] —— s s

20007

18007

16007

14007




10 uL universal (141+157) - Well B8
Entry: Bmpl
1: C: 76.5% / T: 23.5%

(Passed)

C:76.5%

T:23.5%
GO ‘ |
28007 | Qe ———— e
UBIQ Qs ‘ |
24007 | QU ——————— e
22007

20007

18007

16007

14007

1200+




145 - Well B2

Entry: Bmpl

1: C: 73.8%/ T: 26.2%
(Passed)

C:73.8%
T:26.2%

BAQO| T

B0 I e — e

BOOO T E—— e [

DO R e

QOO QLR e —————— S ———— B

DAQQ || Mt N A ety )

22007

20007

18007

16007

14007




dna - Well B2
Entry: Bmpl
1: C: 79.6% / T: 20.4%

(Passed)

C:79.6%

T:20.4%
32007 I ——————————— [ ————
GO 11 |
28007 L 1 e
26007 1 e
24007

22007

20007

18007

16007

14007




dna - Well B8

Entry: Bmpl

1: C:82.2%/T: 17.8%
(Passed)

C:82.2%
T:17.8%

QO

DO

TQOO

TBOOT

17007

16007

15007

14007

13007

1200+




10 uL universal (141+157) - Well F5
Entry: Pld4

4: A: 51.4% / G: 48.6%

(Passed)

A:51.4%
G:48.6%

2B00F |
QB |
DA R |

D3O — e

22007

QDO pro o =

QDO prem =

19007

18007
1700:
1600:
1500:

14007

13007

1200+




10 uL universal (141+157) - Well F11
Entry: Pld4

4: A: 51.5% / G: 48.5%

(Passed)

A:51.5%
G:48.5%

QB TR e e

DA R MR e [

23O . L e

2D e - R — R [

2TQQ R - R — — s

20007

19007

18007

17007

16007

15007

14007

13007

1200¢




145 - Well F5

Entry: Pld4

4: A: 62.3% / G: 37.7%
(Passed)

A:62.3%
G:37.7%

27OQ e A — e

20 A e —————————-

QB0 R i

24007
DB R R — — o

2O e [ R R N i E— R e

21007

20007
1900:
1800:
1700:
1600:
1500:

14007

13007

1200+




dna - Well F5
Entry: Pld4
4: A:57.9%/ G: 42.1%

(Passed)

A:57.9%

G:42.1%
27007 |
DB00T T — [
7 | —————— ———
24007 1 S R

23007

22007

21007

20007
1900:
1800:
1700:
16007
15007

14007

13007

1200*¢




dna - Well F11
Entry: Pld4
4: A: 58.4% / G: 41.6%

(Passed)

A:58.4%

G:41.6%
000 T I — e
QOO | T ————— e
1800 | (— (- T ———TE— e
17007

16007

15007

14007

13007

1200+




10 uL universal (141+157) - Well A3
Entry: Cplx2
2: C:49.8% / T: 50.2%

(Passed)

C:49.8%

T:50.2%
4000 Wl Tl
BBOO T 1 e — S
GBIQ O T — L
BAQQT ] — L
BR00 ] — L
30007
2800t

26007
2400
2200:
20007
18007

16007

14007

1200




10 uL universal (141+157) - Well A9
Entry: Cplx2
2:C:49.9% /T:50.1%

(Passed)
C:49.9%

T:50.1%

GO ‘

30007

20007




145 - Well A3
Entry: Cplx2
2: C:50.5% / T: 49.5%
(Passed)
C:50.5%

T:49.5%

GO

30007

20007




dna - Well A3

Entry: Cplx2
2:C:46.1% / T: 53.9%
(Passed)

C:46.1%
T:53.9%

230 T e G ———————————————;

200 T e ————————

21007

2000 s A TR e e e—— [r— o

19007

18007

17007

16007

15007

14007

13007




dna - Well A9
Entry: Cplx2
2:C:48.7% /T:51.3%

(Passed)

19007

18007

17007

16007

15007

14007

13007

1200+




10 uL universal (141+157) - Well F2
Entry: Ccdc40
1: G: 54.8% / A: 45.2%

(Passed)

G:54.8%

A:45.2%
QU o — L
QU pr———— 8

30007

20007




10 uL universal (141+157) - Well F8
Entry: Ccdc40
1: G: 43.9% / A: 56.1%

(Passed)

32007

30007

28007

26007

24007

22007

20007

18007

16007

14007

1200t




145 - Well F2

Entry: Ccdc40

1: G: 59.6% / A: 40.4%
(Passed)

G:59.6%
A:40.4%

50007

40007

30007

20007




dna - Well F2
Entry: Ccdc40
1: G: 53.2% / A: 46.8%

(Passed)
G:53.2%
A:46.8%
SOQ Qs B 1 L
QO ‘
30007

OO ‘




dna - Well F8

Entry: Ccdc40

1: G: 47.2% / A: 52.8%
(Passed)

G:47.2%
A:52.8%

3200 L

BOOO gl — o e

DO g — o e

D00 i — s

DAQOT g i —— |

22O L ——— R e ———

20007

18007

16007

14007

1200t




10 uL universal (141+157) - Well H11
Entry: Rhbd13

3: A1 52.4% / G: 47.6%

(Passed)

A:52.4%
G:47.6%

QYO T

QDO - e

QOO | e I/ —————— K

TBOO e 1 B I

17007

16007

15007

14007

13007

1200+




10 uL universal (141+157) - Well H5
Entry: Rhbd13
3: A:51.3%/ G: 48.7%

(Passed)
A:51.3%
G:48.7%
TQOO
GO O
QU Qs
16007

15007

14007

13007

1200

a1 @



145 - Well H5
Entry: Rhbd13
3:A:54.7% / G: 45.3%

(Passed)

24007

23007

22007

21007

20007

19007

18007

17007

16007

15007

14007

13007

1200+




dna - Well H5

Entry: Rhbd13

3: A1 54.8% / G: 45.2%
(Passed)

A:54.8%
G:45.2%

OO ||| [ et

QOO e L — pro | v

TG QO [ R (11— - A o

17007

16007

15007

14007

13007

1200




dna - Well H11
Entry: Rhbd13
3:A:51.3%/ G: 48.7%

(Passed)

17007

16007

15007

14007

13007

1200+

“““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““

““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““

(NGRS



10 uL universal (141+157) - Well A2
Entry: Bcl2l1
1: C: 24.6%/ T: 75.4%

(Passed)

19007

18007

17007

16007

15007

14007

13007




10 uL universal (141+157) - Well A8
Entry: Bcl2l1

1: C: 49.5%/ T: 50.5%

(Passed)

C:49.5%
T:50.5%

20007

TQOO it e

QO il I ——————————————— [ F

T QO Wit e ————— 5

16007

15007

14007

13007

1200+




145 - Well A2

Entry: Bcl2l1
1:C:27.9%/ T: 72.1%
(Passed)

C:27.9%
T:72.1%

2O | e L L

QOO QU ———— [ [

TBOOT T e s

17007

16007

15007

14007

13007




dna - Well A2
Entry: Bcl2l1
1: C: 41.6%/ T: 58.4%

(Passed)

C:41.6%

T:58.4%
Il NS | [ — e —
L1 . | 111111111111 1| e— [ e
16007

15007

14007

13007




dna - Well A8
Entry: Bcl2l1
1:C:42.9%/T: 57.1%

(Passed)

C:42.9%

T:57.1%
L R | 111 T
16007

15007

14007

13007




10 uL universal (141+157) - Well B5
Entry: Nsgl

3:C:41.1%/T: 58.9%

(Passed)

Y NSRS | | | S
DTS [NNG————————————— — ]} E— e
D700+ | e I
2600 | —— [ [
25001

24007

23007
2200:
2100:
2000:
19007
18007
17007
16007

15007

14007

13007

1200+




10 uL universal (141+157) - Well B11
Entry: Nsgl

3:C:41.3%/T: 58.7%

(Passed)

C:41.3%
T:58.7%

L | | | e R

250 A S e ————————————— -

QOO (——— || 11 | A ——" [ e

QB0 e B | [ | e e |

22O o S e e ———————-

21007

20007

19007

18007
1700:
16007
15007

14007

13007

1200t




145 - Well B5

Entry: Nsgl
3:C:41.6% /T: 58.4%
(Passed)

C:41.6%

T:58.4%

DO

QOO

Qs

DB
2500
T —
2300/

22007

21007
2000:
1900:
1800:
1700:
1600:
15007

14007

13007

1200+




dna - Well B5

Entry: Nsgl

3: C:49.6% / T: 50.4%
(Passed)

C:49.6%
T:50.4%

e I
DAQO pro - o e
DBOO o | o [
2O e | I (R o

QO [ [ ——— N R L

20007

19007

18007
17007
16007
15007

14007

13007

1200




dna - Well B11
Entry: Nsgl
3:C:51.1%/T: 48.9%

(Passed)

26007
2500:
2400
2300:
2200
2100:
2000:
1900:
1800:
1700
1600:
1500:
1400:

13007

1200¢




10 uL universal (141+157) - Well F4
Entry: Malatl

4:T:44.7% | C: 55.3%

(Passed)

T:44.7%
C:55.3%

34007

200 (LR e ————————-—

GO OO 111 1ttt

B DO [ 11 Bttt ——

26007

24007

22007

20007

18007

16007

14007

1200+




10 uL universal (141+157) - Well F10
Entry: Malatl

4:T:48.7%/ C: 51.3%

(Passed)

T:48.7%
C:51.3%

DA (e

D300 T e ————————— -

22007

QIO ] o

20007

19007

18007

17007

16007

15007

14007

13007

1200t




145 - Well F4

Entry: Malatl
4:T:44.1% / C: 55.9%
(Passed)

3400 (A —eee——————————— .

320 e (S R —eeeee——————_———— -

B L | 11111 T 1 a0

L | 1 I 1010 11 e A

DGO R 1111011 | i — [

24007

22007

20007

18007

16007

14007

1200+¢




dna - Well F4

Entry: Malatl
4:T:43.9% / C: 56.1%
(Passed)

T:43.9%
C:56.1%

GO O 1 ottt ——

DO 1 ottt ——

QO 1 ottt ———

QOO (N R e |

22007

20007

18007

16007

14007

1200+




dna - Well F10
Entry: Malatl
4:T:48.7%/ C: 51.3%

(Passed)

T:48.7%

C:51.3%
2200 AT
2AQO 1| 1111 S ——————————————————————————————————————————
20007

19007

18007

17007

16007

15007

14007

13007

1200¢




10 uL universal (141+157) - Well G4
Entry: Mapt
2:C:56.7%/T: 43.3%

(Passed)

C:56.7%
T:43.3%

34007

32007

30007

28007

26007

24007

22007

20007

18007

16007

14007

1200¢




10 uL universal (141+157) - Well G10
Entry: Mapt
2: C: 49.5%/ T: 50.5%

(Passed)

C:49.5%
T:50.5%

32007

30007

28007

26007

24007

22007

20007

18007

16007

14007

1200t




145 - Well G4

Entry: Mapt

2: C:61.0% /T: 39.0%
(Passed)

C:61.0%
T:39.0%

QOO T
T I
300 | I
00 | I

3200 fll - 0

OO ||t e ———

28007

26007

24007

22007
20007

18007

16007

14007

1200°




dna - Well G4

Entry: Mapt
2:C:55.9% /T: 44.1%
(Passed)

C:55.9%
T:44.1%

OO 110ttt

A QO 10 €ttt

B0 AR = 0

BOOO L S —————— e

DGO R R ORI g e 1

QOO R RN R e e

24007

22007

20007

18007

16007

14007

1200¢




dna - Well G10
Entry: Mapt
2: C:57.0% / T: 43.0%

(Passed)

C:57.0%

T:43.0%
G 1
GOQQ T — 1
28007 T e
GO Qs e L
24007

22007

20007

18007

16007

14007

1200t




10 uL universal (141+157) - Well H3
Entry: Herc3
1:G: 41.8%/ T:58.2%
(Passed)
G:41.8%

T:58.2%
19O e | S e ——————————

TGO U U G e —————" [

L | 1| e

1L | | | e

15007

14007

13007




10 uL universal (141+157) - Well H9
Entry: Herc3
1: G:23.4%/ T: 76.6%

(Passed)

G:23.4%

T:76.6%
7007 e
TEOO |
TBOO e

14007

13007

1200+




145 - Well H3
Entry: Herc3
1: G: 42.1%/ T: 57.9%

(Passed)

G:42.1%

T:57.9%
AT QO B 5050
16007

15007

14007

13007




dna - Well H3
Entry: Herc3
1: G: 78.5% / T: 21.5%

(Passed)

G:78.5%

T:21.5%
L |1 A
QOO R RO AR e L
15007

14007

13007




dna - Well H9
Entry: Herc3
1: G: 76.1% / T: 23.9%

(Passed)

G:76.1%

T:23.9%
L0 R |11 T
L 11— L

14007

13007




10 uL universal (141+157) - Well G1
Entry: Apba2

1:C:21.1%/ T: 78.9%

(Passed)

40007
38007
3600:
34007
3200:
30007
2800:
2600:
24007
2200:
20007

18007

16007

14007

1200+




10 uL universal (141+157) - Well G7
Entry: Apba2

1: C:26.5%/ T: 73.5%

(Passed)

C:26.5%
T:73.5%

QO Wl
QGO 1 e
QT 1 ] ————— e ——

DB QT 1|11t — [

25007

DAQOT T —— e

23O e f——————_————————.

QDO | e e
20000 | e [ B
20001
1900/
1800;
17007
16007

15007

14007

13007

1200¢




145 - Well G1

Entry: Apba2

1: C: 23.6%/ T: 76.4%
(Passed)

C:23.6%
T:76.4%

BB | T
BEOOT QU e ————
BAQO |
3200 T e
BOOO T e

DO T e

200 | L
2400: ““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““ | e R e
2200:
2000:
1800:

16007

14007

1200+




dna - Well G1

Entry: Apba2

1: C:21.4%/ T: 78.6%
(Passed)

C:21.4%

36007

34007

32007

30007

28007

26007

24007

22007

20007

18007

16007

14007

1200+




dna - Well G7

Entry: Apba2

1: C: 17.6%/ T: 82.4%
(Passed)

C:17.6%
T:82.4%

BBOOT L
BEOO L
BAQO E e

RO 10— [

BOOO L

DO L

D00 L I

24007
2200
2000:
18007

16007

14007

1200t




10 uL universal (141+157) - Well C1
Entry: Adam23
2: C:39.7%/ T: 60.3%

(Passed)

C:39.7%

T:60.3%
L R [ 11 1
L | 111 1 1

30007

20007




10 uL universal (141+157) - Well C7
Entry: Adam23
2:C:54.9% /T: 45.1%

(Passed)

C:54.9%

T:45.1%
B0 T —————
BAQO AN e 0
G200 AN e 0
OO0 A e 0
QB0 K e
D00 AN e e
24007

22007

20007

18007

16007

14007

1200¢




145 - Well C1
Entry: Adam23
2:C:35.8%/T: 64.2%

(Passed)

C:35.8%

T:64.2%
QU Qs L [
Qs e

30007

20007




dna - Well C1
Entry: Adam23
2: C:56.6% /T: 43.4%

(Passed)

C:56.6%
T:43.4%

40007

30007

20007




dna - Well C7

Entry: Adam23
2:C:50.1% / T: 49.9%
(Passed)

1 | |1 e

340 Q s (L o ————— [

7L | 1 — [

300Q s U I ———— L

7 | |1 —— 0

2600 = (A U e e

24007

22007

20007

18007

16007

14007

1200¢




10 uL universal (141+157) - Well G6
Entry: Wars
4: A: 53.6% / G: 46.4%

(Passed)
A:53.6%
G:46.4%
B0 T s A

27007
2600:
2500:
24007
23007
22007
2100:
2000:

19007

18007
1700:
1600:
1500:

14007

13007

1200t




10 uL universal (141+157) - Well G12
Entry: Wars

4: A: 45.8% / G: 54.2%

(Passed)

A:45.8%
G:54.2%

B0 L e

G DO 11 |t ottt

GO OO 111 | 1 ottt

2 Q0 s

B0 L ——

24007

22007

20007

18007

16007

14007

1200t




145 - Well G6

Entry: Wars

4: A: 54.8% / G: 45.2%
(Passed)

A:54.8%
G:45.2%

Q000
O
B0
MO0
B0
S
——
26007
24001
22001
2000
15001

16007

14007

1200¢




dna - Well G6
Entry: Wars
4: A: 51.6% / G: 48.4%

(Passed)

A:51.6%

G:48.4%
B0 T E— e
B0 i
B0 1 e
D00 1
2G0T I R L s
24007

22007

20007

18007

16007

14007

1200+




dna - Well G12
Entry: Wars
4: A: 51.0% / G: 49.0%

(Passed)

A:51.0%

G:49.0%
2B00 T T ——— e
2B00 T —— e

24007
2300:
2200:
2100:
20007
1900:
1800:
1700:
16007
15007

14007

13007

1200t




10 uL universal (141+157) - Well B1
Entry: 5230400G24Rik
1:C:87.3%/T: 12.7%

(Passed)

C:87.3%

T:12.7%
4000f i e
GO | |
BBOOT 1 e e
BAQOT 1 [ R |
B2007 1 | [ [ e
GO | [ r——— R e
GO | [ e | e

26007
2400
2200:
20007

18007

16007

14007




10 uL universal (141+157) - Well B7
Entry: 5230400G24Rik

1: C:86.9%/T: 13.1%

(Passed)

C:86.9%
T:13.1%

32007

BOOO it e e

QOO it e e

QOO il e ——————— L

DAQOT it o | R e

22007

20007

18007

16007

14007

1200+




145 - Well B1

Entry: 5230400G24Rik
1: C:87.5%/T: 12.5%
(Passed)

C:87.5%
T:12.5%

AQQ |t ————

3200 e - o

OO (111 o

DO e e

DO QU ———— [ | o

AT QU ———— |

22007

20007

18007

16007

14007




dna - Well B1

Entry: 5230400G24Rik

1: C:89.9%/T: 10.1%

(Passed)
C:89.9%
T:10.1%

20O 1

QDO 1 ——————— o

21007

20O 1 e T e

TQOO 1 — e

ABOOT g ————— e —— o

17007

16007

15007

14007

13007




dna - Well B7
Entry: 5230400G24Rik
1: C: 89.6% / T: 10.4%

(Passed)

C:89.6%

T:10.4%
L | ||| | — e
Ly 1 | 111111111111 | 1| ee— [r— R e
14007
1300




10 uL universal (141+157) - Well A4
Entry: Hsp90abl

3:C:56.2%/ A: 43.8%

(Passed)

C:56.2%
A:43.8%

BAQO T —

3200 0T — 0

BOOO 0T — 0

QB0 0 — e

26007

24007

22007

20007

18007

16007

14007

1200*




10 uL universal (141+157) - Well A10
Entry: Hsp90abl

3:C:61.3%/ A: 38.7%

(Passed)

C:61.3%
A:38.7%

GO 1|11/ttt

A QO 1T ————— [

200 T — L

OO T ——— 1

OO T ———— X

DO e ———— .

24007

22007

20007

18007

16007

14007

1200t




145 - Well A4

Entry: Hsp90abl

3:C: 61.4%/ A: 38.6%
(Passed)

C:61.4%
A:38.6%

GO 0 D11ttt ————

B0 T

OO (O 1 et | s

DO T E—— L

26007

24007

22007

20007

18007

16007

14007

1200




dna - Well A4
Entry: Hsp90abl
3: C:53.5% / A: 46.5%

(Passed)

C:53.5%

A:46.5%
1 N |1 — e
T NN {111 {1 1 — |
32007

30007

28007

26007

24007

22007

20007

18007

16007

14007

1200+




dna - Well A10

Entry: Hsp90abl

3: C:49.7% / A: 50.3%
(Passed)

C:49.7%
A:50.3%

I | 1111 e

R R D ey [

7 | ] —— 0

L | 11 LTI T T ——— 1

24007

22007

20007

18007

16007

14007

1200t




10 uL universal (141+157) - Well A5
Entry: Nmel

3:T: 63.3% / C: 36.7%

(Passed)

T:63.3%

2700

QO 111ttt —

QB0 T —— e

24007
QB0 T — e e

P2 T —— o [— e

QO I ————— o — — e

20007

19007

18007
17007

16007

15007

14007

13007

1200+




10 uL universal (141+157) - Well A11
Entry: Nmel

3:T:61.9%/C: 38.1%

(Passed)

T:61.9%

2

QOO ‘ T et ——

QB0 T —— e

Q2O ‘ T | ([

QTQO S0 e e

20007

19007

18007

17007

16007

15007

14007

13007

1200t




145 - Well A5

Entry: Nmel
3:T:59.2% / C: 40.8%
(Passed)

T:59.2%
C:40.8%

D00 T R

QO (O T 1 | ——————— |

DA T e ————————

QB0 i e

QDO (I Dt A — 5

2AQO T I — R e e

20007

19007
18007
1700:
1600:
15007

14007

13007

1200




dna - Well A5
Entry: Nmel
3:T:48.3% /C: 51.7%

(Passed)

T:48.3%

C:51.7%
7 | || 1| || ————
7 I | || —— i —

25007
24007

23007

22007
2100:
2000:
1900:
1800:
1700:
1600:

15007

14007

13007

1200+




dna - Well A11
Entry: Nmel
3:T:48.9%/C: 51.1%

(Passed)

T:48.9%

C:51.1%
7 N | |||l eee— e
P . | |||l eee— e
7 — | (| I — e

22007

21007

20007
19007
18007
1700
1600:
15007

14007

13007

1200¢




10 uL universal (141+157) - Well C5
Entry: Nsg2

4: A: 41.7% / G: 58.3%

(Passed)

A:41.7%
G:58.3%

B0 U e ——————-———

B0 -~ o ——

G OO 111 ——————— 4 |
G DO 111 ——————— | [

€ | — e o

28007

26007

24007
22007
2000:
18007

16007

14007

1200¢




10 uL universal (141+157) - Well C11
Entry: Nsg2

4: A: 41.2% / G: 58.8%

(Passed)

A:41.2%
G:58.8%

B | T

B0 e

OO R e —" e

DB | — I e

B QO 111 | I

DA e D

22007

20007

18007

16007

14007

1200t




145 - Well C5

Entry: Nsg2

4: A: 38.9%/ G: 61.1%
(Passed)

A:38.9%
G:61.1%

38007
3600: “““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““
A
3200: “““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““
3000:
28007
2600:
2400
22007
20007
1800:

16007

14007

1200+




dna - Well C5

Entry: Nsg2

4: A: 43.3% / G: 56.7%
(Passed)

A:43.3%
G:56.7%

BBOOT Qe ————————

OO (| e ——————— [

B0 T e

200 T e

OO (T ——— 1§

28007

26007

24007

22007

20007

18007

16007

14007

1200+




dna - Well C11

Entry: Nsg2

4: A: 43.7% / G: 56.3%
(Passed)

A:43.7%
G:56.3%

GO 1t ottt ——

BODO T e I

QB0 I - e v

DO T e e [

QOO [ [ ——— | F

QDO e ,-———e—— ———————————

20007

18007

16007

14007

1200t




10 uL universal (141+157) - Well F1
Entry: AK138412
4:T:72.8% / C: 27.2%
(Passed)
T:72.8%

C:27.2%

GO

30007

20007




10 uL universal (141+157) - Well F7
Entry: AK138412
4:T:69.2% / C: 30.8%

(Passed)

T:69.2%

C:30.8%
BBOOT T L
BBOO T 1 e ——— e

34007

32007

30007

28007

26007
24007
2200
2000:
1800:

16007

14007

1200t




145 - Well F1

Entry: AK138412
4:T:65.6% / C: 34.4%
(Passed)

T:65.6%
C:34.4%

BBOOT T
BEOO e e
O it — [ R T

3200 I i —— e —— [

OO (LT 1 p— r—— ]

28007

26007

24007

22007
20007
18007

16007

14007

1200+




dna - Well F1
Entry: AK138412
4:T:65.6% / C: 34.4%

(Passed)

34007

32007

30007

28007

26007

24007

22007

20007

18007

16007

14007

1200




dna - Well F7

Entry: AK138412
4:T:73.1% / C: 26.9%
(Passed)

24 Qs AU e e ——————— e

7 | ] e — pro [ [

e i || o o e

21007

DO (R s R e e

19007

18007

17007

16007

15007

14007

13007

1200+




10 uL universal (141+157) - Well D2
Entry: Cald1

1: T: 42.6% / C: 57.4%

(Passed)

T:42.6%
C:57.4%

SOOI 11|ttt

A QO B 10

G2 1111ttt

OO 1| ] ittt Ittt

QO Wl o o

QOO ] |

24007

22007

20007

18007

16007

14007

1200




10 uL universal (141+157) - Well D8
Entry: Cald1

1: T: 43.8% / C: 56.2%

(Passed)

T:43.8%
C:56.2%

QDO I =

2D R e e — e

QDO ] —— I R

TGO 1] ————— e R o

18007

17007

16007

15007

14007

13007

1200+




145 - Well D2
Entry: Cald1
1: T: 44.2% / C: 55.8%

(Passed)

T:44.2%

C:55.8%
GOQQ e 05050
G QO 1
GO 11|
30007

28007

26007

24007

22007

20007

18007

16007

14007




dna - Well D2
Entry: Cald1
1: T: 37.1%/ C: 62.9%

(Passed)

34007

32007

30007

28007

26007

24007

22007

20007

18007

16007

14007




dna - Well D8
Entry: Cald1
1: T: 40.6% / C: 59.4%

(Passed)

T:40.6%

C:59.4%
23007 il e
77— il s
21007 il e
2000t

19007

18007

17007

16007

15007

14007

13007

1200+¢




10 uL universal (141+157) - Well B3

Entry: Ddit4
4: G: 59.2% / A: 40.8%
(Passed)
G:59.2%
A:40.8%
50007

40007

30007

20007




10 uL universal (141+157) - Well B9

Entry: Ddit4

4: G:52.3% / A: 47.7%

(Passed)
G:52.3%
A:47.7%

40007

30007

20007




145 - Well B3

Entry: Ddit4

4: G: 59.7% / A: 40.3%

(Passed)
G:59.7%
A:40.3%

50007

40007

30007

20007




dna - Well B3
Entry: Ddit4
4: G: 46.7% / A: 53.3%

(Passed)

40007

30007

20007




dna - Well B9
Entry: Ddit4
4: G: 40.5% / A: 59.5%

ressed G:40.5%

A:59.5%
2800 T
2700¢
26001 BT e
QB BT R o o
DA BT R e [
DBQO gl —— I [ [
QDO gl —— o e
QO gl —— e o
2000¢

19007
18007
17007
16007

15007

14007

13007

1200¢




10 uL universal (141+157) - Well D3
Entry: DvI3
1: T: 65.7% / C: 34.3%

(Passed)

T:65.7%

C:34.3%
DGO | 1
2400: “““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““ | |
GO | e
D Qs | | r— |
2100: “““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““ | roe— e
20007
19007

18007
17007
16007

15007

14007

13007




10 uL universal (141+157) - Well D9
Entry: DvI3
1: T: 64.1% / C: 35.9%

(Passed)
T:64.1%
C:35.9%
TGO | e
18001 | e e [Fr—————
1700
ABOO |
15001 |
TAQ |
1300 |
12008 R




145 - Well D3
Entry: DvI3
1: T: 75.8% / C: 24.2%

(Passed)

T:75.8%

C:24.2%
QU 1
26007 | [ — 0
2BQ Qs [
2400 || E—— e
QGO 11— 0000

22007
2100:
2000:
1900:
1800:
17007
1600:

15007

14007

13007




dna - Well D3

Entry: DvI3

1: T: 62.5% / C: 37.5%
(Passed)

T:62.5%
C:37.5%

DO 110 €1 ettt

20O 1 —

20O L ——— e e

QOO 10— | [/ [/

QO 10— 1 I 1

17007

16007

15007

14007

13007




dna - Well D9

Entry: DvI3

1: T:64.7% / C: 35.3%
(Passed)

T:64.7%
C:35.3%

ABOOT L

A700 1 ——

ABOO

TGO

TAOOT

ABOO

1200 b b —




10 uL universal (141+157) - Well B4
Entry: Ina

1: C: 63.8% / T: 36.2%

(Passed)

C:63.8%
T:36.2%

1 e | (| 61T ————————————————————

30007

20007




10 uL universal (141+157) - Well B10
Entry: Ina
1: C: 60.6% / T: 39.4%

(Passed)

C:60.6%

T:39.4%
QO | 1
GO Qs | 1
GO ‘ |
G QO | 1

32007
3000:
2800:
26007
2400
2200:
2000:

18007

16007

14007

1200t




145 - Well B4
Entry: Ina
1: C: 64.6%/ T: 35.4%

(Passed)

C:64.6%

T:35.4%
L |11
30007

20007




dna - Well B4
Entry: Ina
1: C:58.9%/T: 41.1%

(Passed)
C:58.9%
T:41.1%
L 111 1
GO
QOO




dna - Well B10
Entry: Ina
1: C: 59.8% / T: 40.2%

(Passed)

C:59.8%

T:40.2%
4000 1 1
GO 1 |
GOIQ 1 |

34007
32007
30007
28007

26007

24007
2200:
2000:
1800:

16007

14007

1200t




10 uL universal (141+157) - Well A1
Entry: 1700027N10Rik

1: C: 60.5% / G: 39.5%

(Check)

C:60.5%
G:39.5%

20 e 555050

1 | ] — B

Qe 1 01

200 ) R A —— L

24QQ e ) A A — X

P2 | 11 1111 —— 0 |

20007

18007

16007

14007




10 uL universal (141+157) - Well A7

Entry: 17

00027N10Rik

1: C: 56.6% / G: 43.4%

(Failed)

38007
36007
34007
32007
30007
2800:
2600:
2400:
2200
2000:
18007
16007

14007

1200t




145 - Well A1
Entry: 1700027N10Rik
1: C: 59.1% / G: 40.9%

(Check)
C:59.1%
G:40.9%
L 11111 I | L
GO
DO




dna - Well A1

Entry: 1700027N10Rik
1: C:55.2% / G: 44.8%
(Failed)

OO

BAQOT

B0

OO

QOO

DO

24007

22007

20007

18007

16007

14007




dna - Well A7

Entry: 1700027N10Rik
1: C:58.9%/ G: 41.1%
(Passed)

C:58.9%
G:41.1%

QTQQ
26000
DBQQ
24000
23000
7
21000
20001
190"
18007
700"
1600
15007
14007

13007

1200*¢




10 uL universal (141+157) - Well E5
Entry: Pitpnm2
1: C:44.3%/ T: 55.7%

(Passed)

28007
2700:
26007
2500:
2400:
2300:
2200:
2100:
2000:
1900:
1800:
1700:
16007
15007
1400:

13007

1200+

C:44.3%
T:55.7%




10 uL universal (141+157) - Well E11
Entry: Pitpnm2
1: C: 38.6%/ T: 61.4%

(Passed)

C:38.6%

T:61.4%
QAQO | | e ———————————
QOO T L
TQOOT 1 ——— e
18007

17007

16007

15007

14007

13007

1200¢




145 - Well E5

Entry: Pitpnm2

1: C:41.3%/ T: 58.7%
(Passed)

C:41.3%
T:58.7%

20O T T
QB0 T e

DAQOT |

QB0 T L
2O Q= o e ———
20O |

20007

19007
18007
1700:
16007

15007

14007

13007

1200+




dna - Well E5
Entry: Pitpnm2
1: C: 40.2%/ T: 59.8%

(Passed)

C:40.2%
T:59.8%

27007
2600:
2500:
2400:
2300:
22007
2100:
2000:
1900:
18007
1700:
1600:
1500:
1400:

13007

1200+




dna - Well E11
Entry: Pitpnm2
1: C: 41.6%/ T: 58.4%

(Passed)

C:41.6%

T:58.4%
2100 1
20007 I e — e
19007

18007

17007

16007

15007

14007

13007

1200¢




10 uL universal (141+157) - Well D1
Entry: AK011885

1: C: 50.2% / G: 49.8%

(Passed)

C:50.2%
G:49.8%

2Q0Of
QOO
D700

D00

25007
2000
23001
22001
- ibkb
2000+
19007
18007
17007
16007

15007

14007

13007




10 uL universal (141+157) - Well D7
Entry: AK011885
1: C: 50.5% / G: 49.5%

(Passed)

C:50.5%
G:49.5%

25007
24007
23007
22007
21007
20007
19007
18007
17007
1600:
1500:
1400:

13007

1200+




145 - Well D1

Entry: AK011885

1: C: 51.4%/ G: 48.6%
(Passed)

C:51.4%
G:48.6%

OO | et ————

DGO g ee—— [ [

20O T o e

DAQQ T ——— e [

22007

20007

18007

16007

14007




dna - Well D1

Entry: AK011885

1: C: 51.3% / G: 48.7%
(Passed)

C:51.3%
G:48.7%

QOO

20O+

TQOO

AGQQ

17007

16007

15007

14007

13007




dna - Well D7

Entry: AK011885

1: C: 50.7% / G: 49.3%
(Passed)

C:50.7%
G:49.3%

Lt 1| 11 R 1 e —— B

LBt 11 1 1 e

16007

GO

TAQO

13O0

1200




10 uL universal (141+157) - Well H1
Entry: Asb6

1: C: 55.6% / T: 44.4%

(Passed)

C:55.6%
T:44.4%

DO ‘ |

2O ‘ || ———

QO ‘ Il ee———— |

2O | il g

TQOO | a—— 0

18007

17007

16007

15007

14007

13007




10 uL universal (141+157) - Well H7
Entry: Asb6
1: C: 55.8% / T: 44.2%

(Passed)

C:55.8%
T:44.2%

18007

17007

16007

15007

14007

13007

1200+




145 - Well H1

Entry: Asb6

1: C:53.9%/T: 46.1%
(Passed)

C:53.9%
T:46.1%
DB T ——————————————

Qs 111/

AQQ ] 1

2O Tl L

QOO QR e e e——— 1

18007

17007

16007

15007

14007

13007




dna - Well H1
Entry: Asb6
1: C:51.6%/ T: 48.4%

(Passed)

C:51.6%

T:48.4%
21007 R ==
20007 Rt ==
Q00 it e—— e
1800 1 1 s
17007

16007

15007

14007

13007




dna - Well H7
Entry: Asb6
1: C:51.4%/ T: 48.6%

(Passed)

19007

18007

17007

16007

15007

14007

13007

1200*




10 uL universal (141+157) - Well H2
Entry: Chmpla

1:G:12.2%/ T: 87.8%

(Passed)

G:12.2%
T:87.8%

QOO e —————————_———————_——
300 |
BE00 T ———— e
BAQO T ———— e
G200 T ——— e s
3000 aas—-—--:-"- " fl

OO QR e —— [

26007
2400:
2200:
2000:
1800:

16007

14007

1200+




10 uL un

iversal (141+157) - Well H8

Entry: Chmpla
1:G:17.9%/ T: 82.1%

(Passed)

G:17.9%

T:82.1%

GO

29007
2800:
2700:
2600:
2500:
2400:
23007
2200:
2100:
2000:
1900:
1800:
1700:
1600:
1500:
1400:

13007

1200¢




145 - Well H2
Entry: Chmpla
1: G: 15.4% / T: 84.6%

(Passed)

G:15.4%

T:84.6%

38007

36007

34007

32007

30007

28007

26007

24007

22007

20007

18007

16007

14007

1200*¢




dna - Well H2
Entry: Chmpla
1:G:62.9%/ T: 37.1%

(Passed)

G:62.9%

T:37.1%
BOOOT R R Rl
DB 11
26007 (o At M= e
24007 T e
22007 (e At M= e

20007

18007

16007

14007

1200+




dna - Well H8

Entry: Chmpla

1: G: 70.5% / T: 29.5%
(Passed)

G:70.5%
T:29.5%

DO 1

DO L

2O L

QOO R == b

TQOO g e

TG QO 1 B 1 —— e

17007

16007

15007

14007

13007

1200+¢




10 uL universal (141+157) - Well E3
Entry: Enpp5
4:G:28.8%/T:71.2%

(Passed)

G:28.8%
T:71.2%

GO O TR e e

BAQO | I

200 R e ———————

GO O R Qe pe——— [

GO | 11— | |

QOO e ] — e

24007

22007

20007

18007

16007

14007

1200+




10 uL universal (141+157) - Well E9
Entry: Enpp5

4: G: 39.2%/ T: 60.8%

(Passed)

G:39.2%
T:60.8%

DB Q0 L
2400: ““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““ |
2300: ““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““ QY-+~ e —————————
2200: ““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““ 1 R e
7 ] —— e e

QDO o ] — (— e

19007

18007
17007
1600:
1500:

14007

13007

1200+
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